TEAIEDRE-EDEIY 13K TR22EERH R —ER (BEEFHIIR)

— RS % e EREREDXD
N4 AR 73 W=l wf-l
R B | TN AR COEER ww (FEIDIERET nes | W%
(FM) (a) (FM) (FM)
a¥F EER F1RERER 20,069 6,092 3,170 200 |$7iE
4,565 2,663 200(dt#r
5,875 3,096 200|)I1 £
8,226 5,066 200|& &=
8,615 5,074 200| L&
B¥F EER F2RERER 16,877 965 515 200|245
12,565 6,842 200|;B /i
3,526 1,978 200| L:EfR
2,442 1,343 200(5_%E
9,459 5,198 200|F =&
B¥F iEER EIRERER 31,089 10,141 6,058 2002 %
3,533 2,120 200 |5 E
3,734 2,018 200| T :ER
13,552 7,408 200|hiEiE
8,147 4,444 200(E#R
8,305 4,655 200|FafE#E
4,930 2,986 200 |G g2
B¥F iEER FARERER 25,911 11,118 6,254 200|#G R
8,218 4012 200|JII'F
25,417 15,046 200| /R
B¥F EER EORERER 26,691 7,880 3,945 200 |#71%
10,022 5,425 200|E H
6,945 3,543 200|FTER
15,612 7,746 200 =
10,079 5,033 200|¥A%T
HiEER (51 [X) 120,637| 209,963| 115,637 5000 251
AFIRER (%) (51 [X) 120,637 209,963| 115,637 5,000 (25RX 1)
#%& by v |11 AEMRERREHES 993 1,321 793 200|BEE- i B
—+tafT (1#X) 993 1,321 793 200 1R
BERESIRER (187) (1#h[X) 993 1,321 793 200 (1X4)
ZEH ERIR™ ERRBAhEERREH IS 4,676 9,021 4476 200| ME
ZEH ERiR™ HRERTIEHEEREIVRBES 15,106 7,523 3,670 200| 2 1F it
6,178 2,631 200|21F/
7,073 3,523 200|2IEX
2,280 1,226 200|21EF
5457 3,057 200(ZER
ZEH BRIRT Kz ERELHB IR 4,795 3,255 1,953 200|7R 11431
4,867 2,442 200 |iizazy—<—wnz
ZEH ERIR™ B2EAEYDSE 12,913 24575 12,713 200|282
ZEH ERIR™ R KEEERREH IS 1,212 1,870 1,012 200t/ E2
ZEH ERIR™ F/NEREERREH IR 5,257 9,385 5,057 200|d /N E T
ZEH ERIR™ EFEE—thEERREH AR 4,459 4277 2,525 200|1RES IL—T
2,851 1,534 200(%ESNL—TF
ZEH ERiR™ EHmEFEMEERREH AR 6,370 9,118 6,170 200|MREMALES
ZZH BRIR® iRt EREEH AR 3,962 2,641 1,641 200 |Fb i1 BT
4,361 1,921 200 | B 1SR 231
sRiRm (9th[X) 58,749 104,732 55,549 3200 161
ZEHI e BREMMBERREHGHE 2,364 4711 2,164 200|;B /i




TEAIEDRE-EDEIY 13K TR22EERH R —ER (BEEFHIIR)

— GER S EXIE e bR
N4 AR 73 W=l wf-l
R B | TN AR COEER ww (FEIDIERET nes | W%
(FM) (a) (FM) (FM)
ZEH EJUE BHRFAMFERREGHE 3,709 2,580 1,416 200|RB#0
3,204 961 200(E %
2,439 732 200|¥a /=
e (230 X) 6,072 12,934 5272 800| 4RXig
ZEH )T Iz AT ERRLHES 2,502 3,836 2,302 200(s-1a2EsE S
Eh (1#1X) 2,502 3,836 2,302 200 1R
4 FIm Rl REREHESR 1,438 22 88 200 | S AT
11 44 200|ma %K
41 164 200| B2
21 13 20034
45 129 200|H DO H
ZEH ZEIm ISR TEAR 22,193 29,037 17,595 200|#EH
7,355 2,710 200|FH1E
3,128 1,288 200|E
ZZH FEIh ZESHRRERSHES 9,913 16,189 9,713 2002 EE
ZENH (3#hX) 33,544 55,849 31,744 1,800 ORI
ZEH FA MR ET =EMEERREH IR 1,130 891 930 200| =E %1
ZZH FA R AT BMEMRERREH IR 760 311 560 200 (M2
AR AT (2#1X) 1,890 1,202 1,490 400 2KXH
ZZH =HITHT EHILMEERFEH AR 1,937 254 862 200(A W
389 675 200| K0
ZEH ZSHFIIHT SHIFXRMEERREGHE 1,178 63 234 200|E - BT
213 544 200|ERFEA
ZEH =HITHT FENRREREH IR 5,360 6,159 4,623 200| FEHNA
87 337 200|FXEAB
ZZH =FHITHT SHITIhRFEERELHHE 1,848 495 1,648 200|5%EB
Z=HITH (430 X) 10,323 7,660 8,923 1,400 7RI
2250 1= HT HtEERREH IS 1,155 955 955 200| I
ZEH = ET Lt ERREH O 500 300 300 200 (LR
ZEH ==Fmeiy) ERMEEREEH IR 446 246 246 200 F-HFEN
==Fmi}) (3 X) 2,101 1,501 1,501 600 33X
ZEH SELET ET g EREEH IR 2,663 2,463 2,463 200|E L
ZEH SELET TtZAEEM-KRELEE 579 285 379 200|dtH
ZEH SELET BLERRER 528 220 328 200|410
ZEH SELET HIEMREL S 2,006 1,806 1,806 200(£#0
ZEH SELET =HAERRE=R 3,775 3,575 3575 200|=HA
ZEH FEILET g Etig EREEH IR 4,301 4101 4,101 200 |f 87 &5
ZEH SEILET KHASEM-KRELEE 879 608 679 200\ KFH 5
2250 SEILET HILigERELH IR 304 26 104 200|E L
E3) (83hX) 15,035 13,084 13,435 1,600 8
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+ B 2 E=HT BLFREREHES 11,019 7,561 10,819 200|F L5
+ B E ) FEFERERLSMES 4,019 2,330 3819 200|753 =
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+ B th AL A HIMRAEY D= 16,398 10,188 16,198 200|1#7%0
+i LA EROR g EREER 11,666 6.370 11,466 200\ #2
+ B AL RF AERhR i ERRER 16,142 9,690 15,942 200|FA % 8
+i5 th AL A hBRKEZETDIE 25,129 15,140 24,929 200|h &
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